Counting in multiples

You can count in multiples of 5 and 10 on a number line. Read these counts out loud.
+5 5 5 = = — Count in bLs: O 4 8 12 16 20 24 28 32 36 L0
I I T T I I I Count in 8s: O 8 16 24 32 LO L8 56 6L 72 80
0 5 10 5 20 25 30 Countin 100s: 0 100 200 300 LOO 500 600 700 800 900 1000
+10 +10 +10 Countin50s: 0 50 100 150 200 250 300 350 LOO L50 500

Did you know?
When you count in multiples of IO,J

~you visit every other multiple of 5.

Did you know that you can count in thousands in the same way?
0, 1000, 2000, 3000, 4000, 5000

You can also count in multiples of &k and 8 on a number line.
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Look carefullg at the two counts. What do you notice? Copg these counts and add the missing numbers.

Every other
This number line shows how we count in multiples of multiple of L is also 1.8 _ .12 20, 2. 16, 24 56,
50 and 100. a multiple of 8. ' ' ' ' '

3. 150, 200, 250, __, k. 300,400, ., ., ,_ ,900
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0 50 100 150 200 250 300 350 400 450 500 550 600

5. 1000, 900, 800,
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Brain-teaser

Hello! Here are someJ Sally writes all the multiples of 50, from 0 to 600. Which numbers

What do you notice about these Every other multiple of 50
two counts? is also a multiple of 100.

tips on multiples! does she write?
Double a multiple of L to find the multiple of 8. -

6 xL=24 6x8=L8

Double a multiple of 50 to find the multiple of 100.

L x 50 =200 L x |00 = L0OO
. J

Brain-buster
Jon counts in Lks. Paul counts in 8s. They both start on |6 and they
finish on L8. Which numbers do they both say?

6 Number and place value Number and place value 7




